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9.1
2
116m?2
9.2
3.5m
2
3.5m

1,370

— ) I )
o <
4 r‘
o o
& &
N N~
y
Lo

9.2

2.45m

2.70m

0.61m

a) b)
9.3
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€Y

9.3
9.4 9.3
9.4
9.5, 9.6
EWi = ZWl /A . A .....
W, (KN)
W, /A
A (m2)
9.3
0.950 0.750 0.200 0.750 0.600 0.300
1.300 1.200 0.200 1.200 0.600 0.300
2.400 1.200 0.450 1.200 0.600 0.300
kN/m?
9.4
1 21 31 44 3.0 3.9 5.0
2 2 21 31 44 3.0 3.9 5.0
1 4.2 57 74 51 7.4 85
3 3 21 31 44 3.0 3.9 5.0
2 4.2 57 74 51 7.4 8.5
1 6.3 84 10.3 7.6 10.8 11.9

(kN/m2)

19

Hoo-xlcnc.n.pwl\)l—\



Hoo-\lovcn.pwl\)l—\

9.5
A (m?
(kN/m?) ) (kN)
4.200 8.19x7.28 59.6 250.4
1 0.900 8.19x7.28-1.82x1.37 57.1 S1.4
. . ] 217.0
_ _ ) 518.8
1 0.6 0.3
9.6
A (m?
(kN/m?) ) (kN)
5.100 8.19x7.28 59.6 304.1
1 0.900 8.19x7.28-1.82x1.37 57.1 S1.4
. . ] 2293
_ _ ) 584.8
1 0.6 0.3
120
(150)
1 3
I W, = 24x(0.12x0.40)=1.152kN/m
o
S W, = 20x(0.45x 0.24) = 2.160kN/m
GL : . | =65.5m
% i : W = (W, +w,)- = (1.152+2.160)x 65.5 = 217.0kN
450 b)
W, = 24x(0.15x 0.40) = 1.440kN/m
W, = 20%(0.45x 0.24)= 2.160kN / m
20kN/m® | =63.7m
W = (w; +W,)-| = (1.440+ 2.160)x 63.7 = 229.3kN
)
9.7,
9.8
P=p-g-(Vy+Vo+Vy) (9.2.2)

20



P (kN)

V1 (m3)

V2 (m3)

V3 (m?3)

(t/m3)
(m/s?)
9.7 9.8
(m3¥m?)
(M)
0.131
0.117 0.102 0.064 0.174
0.132
0.102 0.081 0.074 0.166
9.9, 9.10 9.7 9.8
3
100mm
1 1
V1 2 1
2 0.16m 0.19m
2.8,0 2.45m 0.16/2.80=0.057, 0.19/2.45=0.078

21
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1 9.9
2 (m¥md) A () ) ™
3 V) |2 - 0.30(8.19x7.28-2.73x1.37-1.82x1.82) 15.8 27.2
4 1 - 0.20(8.19x7.28-1.82x1.37) 114
V) |2 0.131 8.19x7.28x0.057 0.1 7.9
S 1 0.131 8.19x7.28 59.6 7.8
6 V) |2 0.102 8.19x7.28-2.73x1.37-1.82x1.82 52.6 5.4 15.2
0.064 8.19x7.28x0.057 34 02
7 1 0.102 8.197.28-1.82x1.37 57.1 5.8
8 0.064 8.19x7.28 59.6 38
9.10
3 2 A ()
() (md) (m°)
V) |2 - 0.30(8.19x7.28-2.73x1.37-1.82x1.82) 15.8 27.2
1 - 0.20(8.19x7.28-1.82x1.37) 114
V) |2 0.132 8.19x7.28x0.078 47 06 85
1 0.132 8.19x7.28 59.6 79
V) |2 0.081 8.19x7.28-2.73x1.37-1.82x1.82 52.6 43 136
0.074 8.19x7.28x0.078 47 03
1 0.081 8.19x7.28-1.82x1.37 57.1 46
0.074 8.19x7.28 59.6 4.4
- - - 493

P=V.p-g=504x1.0xg=494.3kN

SW =518.8kN >P OK
P=V . p-g=49.3x1.0xg = 483.5kN
TW = 584.8kN >P OK

22




€y

b= YW-P
zW

p
=W
P

n=3.5m

2 -0.313 1
p

0.948 2

(kN)
(kN)

9.11,

-0.419 1

=

ch\lm(ﬂ.hQJNH

9.12
0.948
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9.11

n(m)

1.500 2.000 2.500 3.000 3.500 4.000 4500 5.000
1 0.688 0.526 0.364 0.202 0.043 -0.107 -0.258 -0.409
2 1.000 1.000 1.000 1.000 0.948 0.786 0.624 0.461
1 0.844 0.763 0.682 0.601 -0.419 -0.500 -0.581 -0.663
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.974 0.893 0.812 0.731
1 0.896 0.842 0.788 0.734 0.680 0.626 0.572 0.518
1 0.789 0.679 0.569 0.459 0.352 0.250 0.148 0.046
2 1.000 1.000 1.000 1.000 0.965 0.855 0.745 0.635
1 0.885 0.825 0.766 0.706 -0.046 -0.105 -0.165 -0.225
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.981 0.921 0.861 0.802
1 0.922 0.882 0.841 0.800 0.760 0.719 0.679 0.638
1 0.851 0.774 0.696 0.619 0.543 0.472 0.400 0.328
2 1.000 1.000 1.000 1.000 0.975 0.898 0.820 0.743
1 0.912 0.866 0.820 0.773 0.195 0.148 0.102 0.056
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.985 0.939 0.893 0.847
1 0.936 0.903 0.870 0.837 0.804 0.771 0.738 0.705

9.12
nm

1.500 2.000 2.500 3.000 3.500 4.000 4500 5.000
1 0.326 0.230 0134 0.038 -0.048 -0.119 -0.189 -0.260
2 1.000 1.000 1.000 1.000 0.948 0.810 0.673 0.535
1 0.562 0.500 0.437 0.375 -0.313 -0.382 -0.451 -0.519
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.969 0.888 0.808 0.727
1 0.691 0.647 0.603 0.559 0513 0.465 0.416 0.367
1 0.453 0.375 0.297 0.219 0.149 0.091 0.034 -0.024
2 1.000 1.000 1.000 1.000 0.960 0.854 0.748 0.643
1 0.683 0.638 0.593 0.548 0.051 0.001 -0.049 -0.098
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.979 0.923 0.867 0.812
1 0.775 0.743 0.711 0.679 0.646 0.611 0.576 0.540
1 0.555 0.491 0.428 0.364 0.307 0.261 0.214 0.167
2 1.000 1.000 1.000 1.000 0.969 0.886 0.804 0.721
1 0.720 0.681 0.641 0.601 0.162 0.118 0.074 0.030
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.982 0.933 0.885 0.836
1 0.795 0.765 0.736 0.707 0.677 0.644 0.612 0.580
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2 N=v-(A,-B))-B-L ...
1 N=v-(A;-B,+A,-B,)-B-L
N N
A1l 2
B1 2
=0.8 =0.5
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2002
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9.13
TKN) [TaN) | Ta T TKN) [TokN) | Ty T

X0 | YO | Y+ 245|  250| 1019 25kN 210 390| 184 o
X1 | YO | Xx- 95 100| 1.049 | 10kN 130 170 1303 o
X3 | YO | X+ 100 100| 1.004| 10kN 129 70| 1321 o
X35 | YO | X- 23 150 NG =
X55 | YO | X+ 12 34| 2793 136 62| 0455] =
X6 | YO | X- 36 51| 1416 15 94| 6130] o
X7 | vo | x- 30 34| 1144 83 62| 0743] =
X8 | YO | X+ 82 85| 1031 92 128 1391 o
X9 | YO | Xx- 245|  250| 1.019| 25kN 21.0 390| 184 o
X6 | Y05 | Y- 29 34| 1158 46 62| 13%| o
X0 | Y1 | Y- 43 51| 1170 938 94| 0961] =
X9 | Y1 | Y+ 94 100| 1.059 | 10kN 188 170] 0905 =
X6 | Y15 | Y+ 29 34| 1158 46 62| 13%| o
X6 | Y2 | X+ 21 6.7 NG =
X7 | Y2 | Y+ 07 11| 1612 55 16| 0290 =
X8 | Y2 | X+ 11 34| 3.004 a4 62| 1417] o
X9 | vz | - 55 59| 1073 152 140| 092| =
X0 | v3 | v+ 80 85| 1063 216 128] 0591 =
X6 | Y3 | x- a7 10 NG =
X7 | Y3 | x- 06 11| 1701 46 16| 0349 =
X9 | ¥3 | v+ 34 51| 1487 16.1 94| 0586| =
X0 | va | v- 31 34| 1083 189 62| 0329] =
X3 | va | v+ 50 129 NG =<
X4 | va | x- 92 45 NG =
X5 | va | Y+ 35 51| 1463 129 94| 0730] =
X6 | va | - -35 72 NG =
X9 | va | Y- 50 51| 1018 111 94| 0849] =
X7 | Ya5 | Y+ -01 20 NG >
X8 | Y45 | X+ 09 11| 1271 21 16| 0776| =
X9 | Y45 | X- 04 11| 3.000 27 16| 0582 =
X3 | Y5 | V- 12 51| 1201 114 94| 085] =
x4 | Y5 | X- 35 51| 1467 a7 94| 2016] o
X5 | Y5 | V- 91 100| 1.096 | 10kN 164 170 1036 o
X7 | Y5 | X- 14 06 NG =<
X9 | Y5 | VY- 04 11| 3042 82 16| 019%6|
X0 | Y6 | Y+ 37 51| 1378 147 94| 0641] =
X3 | Y6 | X+ -16 19 NG =<
X4 | Y6 | Y+ 04 11| 2571 56 16| 0285| =
X5 | Y6 | Y+ 34 34| 1006 57 62| 1097| o
X7 | Y6 | X- 14 06 NG =
X9 | Y6 | Y+ 15 34| 2202 77 62| 0808] =
X4 | Y65 | X+ 03 11| 3789 08 16| 1927 o
X5 | Y65 | X- 09 13 NG =
X7 | Y65 | Y- -33 43 NG =<
X9 | Y65 | X- 15 34| 2307 30 62| 2089] o
X0 | Y7 VY- 15 34| 2195 125 62| 0495 =
X3 | Y7 | x- -35 15 NG =
X4 | Y7 | x- a1 05 NG =<
X5 | Y7 | X- 23 10 NG >
X9 | Y7 | ¥- 25 34| 1357 72 62| 0865] =
X9 | Y75 | Y+ 38 51| 1324 6.6 04| 1422] o
X0 | Y8 | X+ 224  250| 1118 25kN 173 390| 2254 o
X1 | Y8 | X- 26 34| 1285 10 62| 6210] o
X2 | Y8 | X+ 09 11| 1161 17 16| 0041 =
X3 | v8 | v- 16 34| 2099 35 62| 1777 o
xa | v8 | x- 25 34| 1344 85 62| 0727] =
X5 | Y8 | - 31 34| 1083 58 62| 1078] o
X6 | Y8 | X+ 53 59| 1119 938 140 14%5| o
X7 | v8 | x- 29 34| 1160 12 62| 5227| o
X8 | Y8 | X- 18 51| 1.061 10.7 94| 0875] =
X9 | v8 | - 250  250| 1.001| 25kN 203 390| 1918 o
T
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9.14
TKN) | TLkN) [ T, T TKN) [T kN) T T, T
X0 | YOYl | 1 L1 11 34| 3174 CPL CPT 11.9 62| 0523 x
R | 3 0.7 11 -
X0 | Y3Y4 | 1 L | 1 -47 115 NG o
R | 3 61 92 NG 9
X0 | Y6Y8 | 2 L | 3 2.7 -1.8 °
R | 1 19 34| 1756 CPL CPT 12.9 62| 0479|
X3 | vavs | 4 | L1 6.8 20 -
R | 3 -104 0.9 -
X4 | Y6Y7 | 1 L | 1 23 25 -
R | 2 2.3 25 °
X5 | YAY5 | 1 L | 1 35 41| 1157 S65 16.6 611 0366] x
R | 3 85 90| 1064 TH-18 151 152 1007, o
X5 | Y6Y8 | 2 L | 1 32 34| 1065 CPL CPT 10.6 62] 0584|
R | 3 32 34| 1065 CPL CPT 106 62| 0584
X6 | YO-YOa| 05 | L | 1 -126 20 NG 9
R | 2 10 34| 3266 CPL CPT 23 621 -2704|
X6 | YlaYd| 25 | L | 3 37 37 -
R | 1 06 0.9 NG ;)
X7 | Y2Y3 | 1 L | 1 34 5.3 °
R | 2 19 58 -
X7 | YdaYéa| 2 L | 1 21 5.7 °
R | 2 59 -46 -
X9 | YLY2 | 1 L | 1 44 56| 1261 TCl1 83 88] 1062| o
R | 3 17 82 NG 9
X9 | Y3Y5 | 2 L] 1 24 34| 1385 CPL CPT 53 621 1171 o
R | 3 18 34| 1878 CPL CPT 43 62] 1430| o
X9 | Y&Y7 | 1 L | 3 16 34| 2099 CPL CPT 6.1 62 1009 o
R | 1 39 41| 1055 S65 95 611 0641) =
X9 | Y7aY8| 05| L | 2 08 34| 4097 CPL CPT 42 621 1477 o
R | 1 08 34| 4097 CPL CPT 42 62| 1477 o
YO | XOX1 | 1 L] 1 20 34| 1707 CPL CPT 13.2 62] 0469|
R | 3 -06 31 NG 9
YO | X3X3a| 05| L | 2 -106 21 NG i
R | 1 -106 21 NG >
YO | X5aX7| 15| L | 1 13 11.8 NG 9
R | 3 29 95 NG >
YO | X8X9 | 1 L | 3 -15 33 NG 9
R | 1 82 90| 1102 TH-18 17.8 152] 0856 x
Y2 | X6X7 | 1 L | 1 25 49 NG 9
R | 3 14 25 °
Y2 | X8X9 | 1 L] 3 18 0.9 NG 9
R | 1 06 76 NG ;)
Y4 | X3X5 | 2 L | 3 120 2.0 -
R | 1 144 a4 NG 9
Y5 | X3X4 | 1 L | 1 -10.9 -3.0 °
R | 2 24 56 -
Y6a | X7-X9 | 2 L | 1 -5.3 7.9 °
R | 2 114 6.0 -
Y8 | X0X4 | 4 | L | 1 44 56| 1.260 TC11 138 881 0637 x
R | 2 -6.9 -8.9 o
Y8 | X6X8 | 2 L1 17 34| 2042 CPL CPT 73 621 0849
R | 3 05 34| 7116 CPL CPT 55 62 1121 o
T
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9.15 2
n(m)

1.500 2.000 2.500 3.000 3.500 4.000 4500 5.000
1 0.688 0.526 0.364 0.202 0.043 -0.107 -0.258 -0.409
2 1.000 1.000 1.000 1.000 0.948 0.786 0.624 0.461
1 0.844 0.763 0.682 0.601 0.281 0.200 0.119 0.038
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.974 0.893 0.812 0.731
1 0.896 0.842 0.788 0.734 0.680 0.626 0.572 0.518
1 0.789 0.679 0.569 0.459 0.352 0.250 0.148 0.046
2 1.000 1.000 1.000 1.000 0.965 0.855 0.745 0.635
1 0.885 0.825 0.766 0.706 0.470 0.411 0.351 0.291
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.981 0.921 0.861 0.802
1 0.922 0.882 0.841 0.800 0.760 0.719 0.679 0.638
1 0.851 0.774 0.696 0.619 0.543 0.472 0.400 0.328
2 1.000 1.000 1.000 1.000 0.975 0.898 0.820 0.743
1 0912 0.866 0.820 0.773 0.592 0.546 0.500 0.454
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.985 0.939 0.893 0.847
1 0.936 0.903 0.870 0.837 0.804 0.771 0.738 0.705

9.16 2
n(m)

1.500 2.000 2.500 3.000 3.500 4.000 4500 5.000
1 0.326 0.230 0134 0.038 -0.048 -0.119 -0.189 -0.260
2 1.000 1.000 1.000 1.000 0.948 0.810 0.673 0.535
1 0.562 0.500 0.437 0.375 0.177 0.108 0.040 -0.029
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.969 0.888 0.808 0.727
1 0.691 0.647 0.603 0.559 0513 0.465 0.416 0.367
1 0.453 0.375 0.297 0.219 0.149 0.091 0.034 -0.024
2 1.000 1.000 1.000 1.000 0.960 0.854 0.748 0.643
1 0.683 0.638 0.593 0.548 0.405 0.355 0.306 0.256
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.979 0.923 0.867 0.812
1 0.775 0.743 0.711 0.679 0.646 0.611 0.576 0.540
1 0.555 0.491 0.428 0.364 0.307 0.261 0.214 0.167
2 1.000 1.000 1.000 1.000 0.969 0.886 0.804 0.721
1 0.720 0.681 0.641 0.601 0.475 0.431 0.387 0.343
3 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
2 1.000 1.000 1.000 1.000 0.982 0.933 0.885 0.836
1 0.795 0.765 0.736 0.707 0.677 0.644 0.612 0.580
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1 9.17 2
2 TN | Ta(kN) | Ta T TENY [Ty kN) | Ty T
3 X0 | YO | v+ 245|  250| 1019 25kN 195|  250| 1.285] 25kN
X1 | Yo | x- 95| 100| 1049 10kN 95, 170, 1.782] 10kN
4 X3 | YO | X+ 100|  100| 1.004 | 10kN 97| 100 1035 10kN
X35 | YO | X- 23 83 04| 1139 -
5 X55 | YO | X+ 12 34| 2793 92 04| 1027 -
X6 | YO | x- 36 51| 1416 10 51
X7 | Yo | Xx- 30 34| 1144 6.9 94| 1359 -
6 X8 | YO | X+ 82 85| 1031 6.4 85| 1334
X9 | Yo | x- 245|  250| 1019 25kN 195|  250| 1.285] 25kN
7 X6 | Y05 | Y- 29 34| 1158 45 62| 1377
X0 | Y1 | ¥- 13 51| 1170 6.0 94| 1578
8 X9 | Y1 | v+ 94| 100| 1059 10kN 71| 330| 1.929] 15kN -
X6 | Y15 | Y+ 29 34| 1158 45 62| 1377
“ X6 | Y2 | X+ 21 31 62| 2004 -
X7 | Y2 | v+ 07 11| 1612 39 62| 1602 -
X8 | Y2 | X+ 11 34| 3004 34 62| 1827
X9 | Y2 | - 55 59| 1073 26| 140] 1107
X0 | Y3 | v+ 80 85| 1063 152| 170| 1.115] 10kN -
X6 | Y3 | x- a7 19
X7 | Y3 | x- 06 11| 1701 33 62| 1904 o
X9 | Y3 | V¥ 34 51| 1487 1) 128] 1057 o
X0 | va | ¥- 31 34| 1083 23| 128] 1035 -
X3 | Y4 | v+ 50 55 62| 1138 -
X4 | va | x- 92 30
X5 | Y4 | v+ 35 51| 1463 92 94| 1017
X6 | va | Y- 35 27 62| 2286 -
X9 | Y4 | - 50 51| 1018 98| 128 1306 °
X7 | Y45 | v+ 01 12 16| 1334 -
X8 | Y45 | X+ 09 11| 1271 18 62| 3493 -
X9 | Y45 | Xx- 04 11| 3.000 19 62| 3193 o
X3 | Y5 | Y- 42 51| 1201 95| 128| 1335 -
X4 | Y5 | x- 35 51| 1467 32 51| 1584
X5 | Y5 | Y- 91 100| 1.096 | 10kN 138|  170| 1.236] 10kN
X7 | Y5 | X- 14 04
X9 | Y5 | Y- 04 11| 3042 54 62| 1152 -
X0 | Y6 | v+ 37 51| 1378 113} 128| 1125 -
X3 | Y6 | X+ 16 a3
X4 | Y6 | v+ 04 11| 2571 38 62| 1632 -
X5 | Y6 | v+ 34 34| 1006 38 62| 1642
X7 | Y6 | x- 14 04
X9 | Y6 | v+ 15 34| 2202 57 62| 1085
X4 | Y65 | X+ 03 11| 3789 0.7 16| 2341
X5 | Y65 | X- 0.9 04 16| 4475 -
X7 | Y65 | Y- 33 0.9 16| 1763 -
X9 | Y65 | X- 15 34| 2307 14 34| 2450
X0 | Y7 | ¥- 15 34| 2195 838 04| 1069 -
X3 | ¥7 | x- 35 10
X4 | Y7 | x a1 03
X5 | Y7 | Xx- 23 06
X9 | Y7 | Y- 25 34| 1357 59 62| 1048
X9 | Y75 | v+ 38 51| 1324 63 94| 149
X0 | Y8 | X+ 24| 250| 1118 25kN 159|  250| 1572 25kN
X1 | v8 | x- 26 34| 1285 07 34
X2 | Y8 | X+ 09 11| 1161 a1 11
X3 | v8 | Y- 16 34| 2009 14 34| 2340
X4 | v8 | x- 25 34| 1344 6.8 04| 1383 -
X5 | Y8 | Y- 31 34| 1083 37 62| 1671
X6 | Y8 | X+ 53 59| 1119 59| 140 2361
X7 | Y8 | x- 29 34| 1160 04 34
X8 | Y8 | x- 48 51| 1061 94| 128| 1351 o
X9 | v8 | ¥- 250| 250 1.001] 25kN 193|  250| 1.298] 25kN
T Tu Ta
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9.18 2
TKN) [T, kN)I T, T TKN) [T, KN)| T, T
X0 | YO-Y1 1 L 1 11 34| 3174 CPL CPT 74 88| 1.197 TC11 o
R 3 -0.7 -2.8
X0 | Y3Y4 1 L 1 -4.7 5.6 6.1| 1.084 S65 o
R 3 -6.1 34 6.1| 1.801 S65 o
X0 | Y6-Y8 2 L 3 -2.7 -4.1
R 1 19 34, 1756 CPL CPT 85 88| 1.036 TC11 o
X3 | Y4-Y8 4 L 1 -6.8 -85
R 3 -10.4 -9.2
X4 | Y6-Y7 1 L 1 -2.3 -3.6
R 2 -2.3 -36
X5 | Y4-Y5 1 L 1 35 41 1157 S65 118 12.2| 1.029 SW-67 o
R 3 85 9.0/ 1.064 TH-18 12.7 152| 1.196 TH-18
X5 | Y6-Y8 2 L 1 3.2 3.4 1.065 CPL CPT 7.3 88| 1.205 TC11 o
R 3 32 34| 1.065 CPL CPT 73 88| 1.205 TC11 o
X6 | YO-YOa| 0.5 L 1 -12.6 -5.0
R 2 10 34 3.266 CPL CPT -25 CPL CPT
X6 | YlaY4 | 25 L 3 -3.7 -6.4
R 1 -0.6 -1.7
X7 | Y2-Y3 1 L 1 -34 -7.0
R 2 -1.9 -6.7
X7 | YdaY6a] 2 L 1 -21 -6.8
R 2 -5.9 -7.4
X9 | Y1-Y2 1 L 1 44 56 1.261 TCl1 7.0 88| 1.261 TC11
R 3 -1.7 4.4 61| 1.373 S65 o
X9 | Y3Y5 2 L 1 24 34| 138 CPL CPT 31 6.1 1.949 CPL CPT
R 3 18 3.4 1878 CPL CPT 22 61| 2.813 CPL CPT
X9 | Y6-Y7 1 L 3 16 34| 2099 CPL CPT 43 6.1| 1.426 CPL CPT
R 1 3.9 41} 1.055 S65 7.6 88| 1153 TC11 o
X9 | Y7aY8 | 05 L 2 0.8 3.4 4.097 CPL CPT 3.0 6.1| 2.053 CPL CPT
R 1 0.8 34| 4097 CPL CPT 3.0 6.1| 2.053 CPL CPT
YO | X0-X1 1 L 1 2.0 3.4 1707 CPL CPT 8.7 88| 1.010 TC11
R 3 -0.6 0.3 61| >10 S65 o
Y0 | X3-X3a| 05 L 2 -10.6 -3.2
R 1 -10.6 -3.2
Y0 | X5aX7| 15 L 1 -1.3 6.8 88| 1.300 TC11 o
R 3 -2.9 44 61| 1.376 S65 o
YO | X8-X9 1 L 3 -15 0.9 6.1| 6.584 S65 o
R 1 82 9.0/ 1102 TH-18 154 24.0| 1.558 SHD15 o
Y2 | X6-X7 1 L 1 -25 0.9 61| 7.121 S65 o
R 3 -1.4 -4.1
Y2 | X8X9 1 L 3 -1.8 -1.0
R 1 -0.6 4.4 6.1| 1.387 S65 o
Y4 | X3-X5 2 L 3 -12.0 -89
R 1 -14.4 -5.2
Y5 | X3-X4 1 L 1 -10.9 -8.3
R 2 -2.4 -6.8
Y6a | X7-X9 2 L 1 -5.3 -10.5
R 2 -11.4 -11.6
Y8 | X0-X4 4 L 1 44 56 1.260 TCl1 7.6 88| 1.165 TC11
R 2 -6.9 -13.6
Y8 | X6-X8 2 L 1 17 3.4 2042 CPL CPT 4.3 6.1| 1426 CPL CPT
R 3 0.5 34 7116 CPL CPT 25 6.1| 2437 CPL CPT
T Tu Ta
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9.19

1
T®N) | Ta(kN) | Ta T TEN) [Ty (kN) | To T 2
X0 | YO | v+ 245|  250| 1019 25kN 210 250, 1189 25kN 3
X1 | YO | X- 95| 100| 1049} 10kN 130| 170 1303 | 10kN
X3 | YO | X+ 100|  100| 1.004| 10kN 29| 170 1321 10kN 4
X35 | YO | X- 23 150 170 1135 10kN -
X55 | YO | X+ 12 34| 2793 36| 140 1027 - 5
X6 | YO | X- 36 51| 1416 15 51 3306
X7 | YO | Xx- 30 34, 1144 83 94| 1126 -
X8 | YO | X+ 82 85| 1031 92| 128 1391 6
X9 | YO | X- 245  250| 1019 25kN 210 250, 1189 25kN
X6 | Y05 | Y- 29 34 1158 16 62| 1356 7
X0 | Y1 | Y- 13 51| 1170 98] 128 1303 o
X9 | Y1 | v+ 94| 100| 1059] 10kN 188| 330  1.756 | 15kN - 8
X6 | Y15 | Y+ 29 34| 1158 16 62 135
X6 | Y2 | X+ 21 6.7 94 1409 - “
X7 | Y2 | Y+ 07 11, 1612 55 62 1124
X8 | Y2 | X+ 11 34| 3004 a4 62 1417
X9 | Y2 | Y- 55 59| 1073 52| 170 1119 10kN -
X0 | Y3 | v+ 80 85| 1063 216| 330, 1530 15kN -
X6 | Y3 | Xx- a7 10 16 1560 o
X7 | Y3 | x- 06 11, 1701 16 62| 1354 o
X9 | ¥3 | VE 34 51| 1487 61| 170 1.059 | 10kN o
X0 | Y4 | Y- 31 34 1083 189| 330  1.750 | 15kN -
X3 | Y4 | v+ 50 29| 130 1008 -
Xa | Y4 | x- 92 45 62 1374 o
X5 | Y4 | Y+ 35 51, 1463 129 130 1010 -
X6 | Y4 | Y- 35 72 041 1208 -
X9 | Y4 | Y- 50 51| 1018 11| 128 1151 -
X7 | Y45 | v+ 01 20 62| 3093 -
X8 | Y45 | X+ 09 11| 1271 21 62 3007 o
X9 | Y45 | Xx- 04 11| 3000 27 62| 2257 o
X3 | Y5 | Y- 42 51 1201 14| 128 1119 -
Xa | Y5 | X- 35 51 1467 a7 94 2016
X5 | Y5 | Y- 91| 100| 1096 10kN 164| 170 1036 | 10kN
X7 | Y5 | X- B! 06 16] 2689 o
X9 | Y5 | Y- 04 11| 3042 82 94 1151 -
X0 | Y6 | Y+ 37 51| 1378 147| 170 1159 | 10kN -
X3 | Y6 | X+ 16 19 62 3182 o
X4 | Y6 | v+ 04 11| 2571 56 62 1103 -
X5 | Y6 | v+ 34 34| 1006 57 62| 1097
X7 | Y6 | Xx- 14 06 16 2689
X9 | Y6 | v+ 15 34| 2202 77 94| 1225 o
X4 | Y65 | X+ 03 11 3789 08 167 1927
X5 | Y65 | X- 09 13 16 1215 -
X7 | Y65 | Y- 33 43 62 1446
X9 | Y65 | X- 15 34| 2307 30 621 2089
X0 | Y7 | Y- 15 34, 2195 25| 128 1018 -
X3 | Y7 | x- 35 15 16, 1082 -
X4 | Y7 | x- a1 05 16| 3503 -
X5 | Y7 | Xx- 23 10 16, 1668 o
X9 YT Y- 25 34| 1357 72 947 1311 o
X9 | Y75 | v+ 38 51| 1324 6.6 04| 142
X0 | Y8 | X+ 24| 250| 1118 25kN 173|250 1445 25kN
X1 | Y8 | X- 26 34| 1285 10 34, 3418
X2 | Y8 | X+ 09 11 1161 17 62 3645 -
X3 | Y8 | Y- 16 34| 2099 35 621 1777
X4 | Y8 | Xx- 25 34| 134 85 94 1102 -
X5 | Y8 | Y- 31 34, 1083 538 62| 1078
X6 | Y8 | X+ 53 59| 1119 98| 140 1425
X7 | ¥Y8 | Xx- 29 34| 1160 12 34, 2850
X8 | v8 | X- 48 51 1061 07| 128 1187 -
X9 | Y8 | Y- 250|  250] 1.001] 25kN 203|250 1229 25kN
T Tu Ta
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9.20
TKN) [T.kN)I T, T TKN) IT,kN)| T, T
X0 | YO-Y1l 1 L 1 11 34| 3174 CPL CPT 119 122| 1.028 SW-67 o
R 3 -0.7 -11
X0 | Y3Y4 1 L 1 -4.7 115 122 | 1.062 SW-67 o
R 3 -6.1 9.2 122| 1319 SW-67 o
X0 | Y6-Y8 2 L 3 -2.7 -1.8
R 1 19 34 1756 CPL CPT 129 152 1175 TH-18 o
X3 | Y4-vY8 4 L 1 -6.8 -2.0
R 3 -10.4 -0.9
X4 | Y6-Y7 1 L 1 -2.3 -25
R 2 -2.3 -25
X5 | Y4-Y5 1 L 1 35 41} 1157 S65 16.6 240 1443 SHD15 o
R 3 85 9.0 1.064 TH-18 151 152 | 1.007 TH-18
X5 | Y6-Y8 2 L 1 3.2 34 1.065 CPL CPT 10.6 122| 1148 SW-67 o
R 3 3.2 34| 1.065 CPL CPT 10.6 122| 1148 SW-67 o
X6 | YO-YOa| 05 L 1 -12.6 20 6.1| 3.062 S65 o
R 2 1.0 34| 3.266 CPL CPT -2.3 CPL CPT
X6 | YlaY4 | 25 L 3 -3.7 -3.7
R 1 -0.6 0.9 6.1| 6.435 S65 o
X7 | Y2-Y3 1 L 1 -34 -5.3
R 2 -1.9 -5.8
X7 | YdaY6a 2 L 1 -21 -5.7
R 2 -5.9 -4.6
X9 | Y1-Y2 1 L 1 4.4 56 1.261 TC11 8.3 88| 1.062 TC11
R 3 -1.7 8.2 88| 1071 TC11 o
X9 | Y3Y5 2 L 1 24 34| 138 CPL CPT 5.3 6.1| 1.150 CPL CPT
R 3 18 34 1878 CPL CPT 43 6.1| 1405 CPL CPT
X9 | Y6-Y7 1 L 3 16 34| 2099 CPL CPT 6.1 6.2 1.009 CPL CPT
R 1 39 41} 1.055 S65 9.5 122| 1282 SW-67 o
X9 | Y7aY8 | 05 L 2 0.8 34 4.097 CPL CPT 4.2 61| 1451 CPL CPT
R 1 038 34| 4097 CPL CPT 42 6.1| 1451 CPL CPT
YO | X0-X1 1 L 1 20 34| 1707 CPL CPT 132 152 1151 TH-18 o
R 3 -0.6 31 6.1| 1.983 S65 o
Y0 | X3-X3a| 05 L 2 -10.6 21 6.1| 2947 S65 o
R 1 -10.6 21 6.1| 2947 S65 o
Y0 | X5aX7 | 15 L 1 -1.3 118 122| 1.033 SW-67 o
R 3 -2.9 9.5 122| 1288 SW-67 o
YO | X8-X9 1 L 3 -15 33 6.1| 1.858 S65 o
R 1 8.2 9.0 1102 TH-18 17.8 240 1352 SHD15 o
Y2 | X6-X7 1 L 1 -25 4.9 61| 1.231 S65 o
R 3 -14 -25
Y2 | X8X9 1 L 3 -1.8 0.9 6.1| 6.815 S65 o
R 1 -0.6 7.6 88| 1165 TC11 o
Y4 | X3-X5 2 L 3 -12.0 -2.0
R 1 -14.4 4.4 6.1| 1.383 S65 o
Y5 | X3-X4 1 L 1 -10.9 -3.0
R 2 -24 -5.6
Y6a | X7-X9 2 L 1 -5.3 -7.9
R 2 -114 -6.0
Y8 | X0-X4 4 L 1 4.4 56 1.260 TC11 138 152 1.100 TH-18 o
R 2 -6.9 -8.9
Y8 | X6-X8 2 L 1 17 34 2042 CPL CPT 7.3 88| 1.205 TC11 o
R 3 05 34 7116 CPL CPT 55 61| 1.101 CPL CPT
T Tu Ta
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6 9.4, 9.6
6
€))
9.3
9.4 9.3
9.4
9.5, 9.6
EWi =ZW|/AA ..... (921)
IW, (kN)
W, /A (KN/m2)
A (m2)
9.3
0.950 0.750 0.200 0.750 0.600 0.300
1.300 1.200 0.200 1.200 0.600 0.300
2.400 1.200 0.450 1.200 0.600 0.300
KN/m?
9.4
1 21 3.1 44 3.0 39 5.0
2 2 21 3.1 44 3.0 39 5.0
1 42 57 74 5.1 7.4 85
3 3 21 31 44 3.0 39 5.0
2 42 57 74 5.1 7.4 85
1 6.3 84 10.3 76 10.8 11.9
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9.5
(kN/m?) A () (kN)
4.200 8.19x7.28 59.6 250.4
1 0.900 8.19x7.28-1.82x1.37 57.1 514
. . ) 217.0
. . ) 518.8
1 0.6 0.3
9.6
(kN/m?) A (m) (kN)
5.100 8.19x7.28 59.6 304.1
1 0.900 8.19x7.28-1.82x1.37 57.1 514
. . ; 2293
_ . ] 584.8
1 0.6 0.3
120
(}E(I)) a)
| —— w; = 24x(0.12x0.40)=1.152kN/m
§ W, = 20%(0.45x 0.24)= 2.160kN / m
GL : . | =655m
%_ ' ’ W = (W, +w,)-1 = (1.152+2.160)x 65.5 = 217.0kN
450 b)
W, = 24x(0.15x 0.40) = 1.440kN/m
W, = 20x(0.45x 0.24) = 2.160kN / m
20kN/m® |=63.7m

4

9.8

Pop-g-(Vy -V, +Vy)

W = (w,; +w,)-1 = (1.440+ 2.160)x 63.7 = 229.3kN

9.7,

(kN)
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V1 (m3)
V2 (m3)
V3 (m3)
P (t/m?3)
g (m/s?)
9.7 9.8
(m¥m?)
(m®/m?)
0.131
0.117 0.102 0.064 0.174
0.132
0.102 0.081 0.074 0.166
9.9, 9.10 9.7 9.8
3
100mm
1 1
Vi1 2 1
2 0.16m 0.19m
2.8,0 2.45m 0.16/2.80=0.057, 0.19/2.45=0.078

39

Hm-\lmmpwr\ap



